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DESCRIPTIONDESCRIPTION

The heated oxygen senor senses the oxygen concentration in exhaust gas and converts it into The heated oxygen senor senses the oxygen concentration in exhaust gas and converts it into a voltage which is sent to the ECM. The heated oxygen sensora voltage which is sent to the ECM. The heated oxygen sensor
outputs about 800mV when the air fuel ratio is richer than the theoretical ratio and outputs about 00mV when the ratio is leaner !higher oxygen concentration inoutputs about 800mV when the air fuel ratio is richer than the theoretical ratio and outputs about 00mV when the ratio is leaner !higher oxygen concentration in
exhaust gas." The ECM controls the fuel in#ection ratio based on this signal so that the air fuel ratio is maintained at the theoretical ratio. The oxygen sensor has aexhaust gas." The ECM controls the fuel in#ection ratio based on this signal so that the air fuel ratio is maintained at the theoretical ratio. The oxygen sensor has a
heater element which ensures the sensor performance during heater element which ensures the sensor performance during all driving conditions.all driving conditions.
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3-DTC – P0130, P0131, P0132, P0137, P01383-DTC – P0130, P0131, P0132, P0137, P0138





T$%&'(E)*%%T+,- *+,T)
hen the lean/rich period is above .1 seconds in a fully warmed2up engine is 3000243000 rpm and engine is above middle load.





T$%&'(E)*%%T+,- *+,T)
. +f the heated oxygen sensor is defective3 abnormally high emission may occur.
. +f the heated oxygen sensor chec5 has been normal3 but the sensor output voltage is out of specification3 chec5 for the following items related to air fuel

ratio control system.
o 6aulty in#ector.

7ir lea5s in the inta5e manifold.

6aulty mass air flow sensor3 EV7 valve and engine coolant temperature sensor.

iring connection problem.

4. hen % sensor output voltage is maintained as following for above 90 sec.

o &pstream: 0.;V 2 0.1V

<ownstream: 0.;V 2 0.9V

Chec5 item
Chec5
condition

Engine  condition Test  specification

*eated oxygen sensor output voltage. !*eated oxygen sensor side connector ,o.  or
ECM harness side connector"

arm2up.
hen decelerating suddenly from
;3000 rpm.

=7= 00 mV or lower.

hen engine is suddenly raced. ='= 10023000 mV.

*eater resistance
Cooling
!>C"

?ey  %66 .@0.;A

 ,%TE
+f you release the accelerator pedal suddenly while the engine is running at about ;000 rpm3 the fuel supply will be stopped for a while.
hen you suddenly press the accelerator pedal3 the voltage will reach ='= range. Then3 when you let the engine idle again3 the voltage will fluctuates between =7=
and ='= range. +n this case3 the % sensor can be determined as good.



<TC 2 0403 043 043 04B3 048 !7+$26&E( C%,T$%("



T$%&'(E)*%%T+,- *+,T)
7ir/6uel ratio stays rich or lean longer than specified period because of system malfunction.

*7$,E)) +,)ECT+%, $%CE<&$E



)E,)%$ +,)ECT+%,
 ,%TE

• 'efore chec5ing3 warm up the engine until the engine coolant temperature reaches 80 to 9>C !B1 to 09>6".

• &se an accurate digital voltmeter.

$eplace the oxygen sensor if there is a malfunction.

T%$D&E )EC+6+C7T+%,

*eated oxygen sensor 90210 ,m 9002100 5gcm 4B2;; lbft



C+$C&+T <+7-$7M



<escription

The fuel pump inspection terminal3 located in the engine compartment3 is used to chec5 fuel pump operation by connecting battery voltage directly to the
terminal.

6&E( &M %E$7T+,- C*EC? 
. Turn the ignition switch %66.

. 7pply battery voltage to the fuel pump drive connector to chec5 that the pump operates.

 ,%TE

The fuel pump is an in2tan5 type. +ts operating sound is difficult to hear without removing the fuel tan5 cap.



4. inch the hose to chec5 that fuel pressure is felt.

*7$,E)) +,)ECT+%, $%CE<&$E)





C+$C&+T <+7-$7M



<escription



The in#ectors in#ect fuel according to a signal coming from the ECM. The volume of fuel in#ected by the in#ector is determined by the time during which the
solenoid valve is energiFed.

<TC 2 003 003 0043 00;





. +f the engine is hard to start when hot3 chec5 for fuel pressure and in#ector lea5s.
. +f the in#ector does not operate when the engine is cran5ed3 then chec5 the following:

o 6aulty power supply circuit to the ECM and faulty ground circuit

6aulty M6+ control relay

6aulty cran5shaft position sensor and camshaft position sensor 

4. +f there is any cylinder whose idle state remains unchanged when the fuel in#ection of in#ectors is cut one after another during idling3 chec5 each cylinder
for the following:

o +n#ector and harness

+gnition plug and high tension cable

Compression pressure

;. +f the in#ection system is %? but the in#ector drive time is out of specification3 chec5 for the following items.

o oor combustion in the cylinder. !faulty ignition plug3 ignition coil3 compression pressure and etc."

9. The M+( is on or the <TC is displayed on the )C7, T%%( under the following condition.

o hen the in#ector itself is faulty.

*7$,E)) +,)ECT+%, $%CE<&$E)



+,)ECT+%,
. %peration )ound Chec5 

&sing a stethoscope3 chec5 the in#ectors for a clic5ing sound at idle. Chec5 that the sound is produced at shorter intervals as the engine speed increases.

 ,%TE

Ensure that the sound from an ad#acent in#ector is not being transmitted along the delivery pipe to an inoperative in#ector.



. +f a stethoscope is not available3 chec5 the in#ector operation with your finger. +f no vibrations are felt3 chec5 the wiring connector3 in#ector3 or in#ection
signal from ECM.

4. $esistance Measurement 'etween Terminals

<isconnect the connector at the in#ector.

;. Measure the resistance between terminals.

)EC+6+C7T+%,

)tandard value 9.@0.49A Gat 0>C !18>6"H

9. +f the resistance is not within specification3 replace the in#ector.



+,)ECT+%,
. Measure the resistance of the in#ectors between the terminals using an ohmmeter.

)EC+6+C7T+%,

$esistance 9.@0.49AGat 0>C 18>6"H

. +f the resistance is not with in specifications3 replace the in#ectors.

+,)T7((7T+%,
. +nstall a new grommet and %2ring to the in#ector.

. 7pply a coating of solvent3 spindle oil gasoline to the %2ring of the in#ector.



4. hile turning the in#ector to the left and right3 install it on to the delivery pipe.

;. 'e sure the in#ector turns smoothly.

 ,%TE

+f it does not turn smoothly3 the %2ring may be #ammedI remove the in#ector and re2insert it into the delivery pipe and re2chec5.

$EM%V7(
. $elease residual pressure from the fuel line to prevent fuel from spilling.

C7&T+%,

Cover the hose connection with rags to prevent splashing of fuel that could be caused by residual pressure in the fuel line.

. $emove the delivery pipe with fuel in#ector and pressure regulator.



C7&T+%,

. 'e careful not to drop any in#ectors when removing the delivery pipe.
. 'e aware that fuel may flow out when removing the in#ector.

C+$C&+T <+7-$7M





The evaporative emission canister purge solenoid valve is a duty control type3 which controls introduction of purge air from the evaporative emission canister.



<TC 2 0;;3 0;;;3 0;;9

T$%&'(E)*%%T+,- *+,T)
%pen or short circuit is observed in purge solenoid valve !*igh" system when ignition switch is turned on.



T$%&'(E)*%%T+,- *+,T)
Evaporative emission control system does not function normally because of mechanical trouble.



*7$,E)) +,)ECT+%,



C+$C&+T <+7-$7M



<escription
The engine coolant temperature sensor is installed in the engine coolant passage of the cylinder head. +t detects engine coolant temperature and emits signals to
the ECM. This part employs a Thermistor which is sensitive to changes in temperature. The electric resistance of a Thermistor decreases in response to
temperature rise. The ECM #udges engine coolant temperature by the sensor output voltage and provides optimum fuel enrichment when the engine is cold.



<TC 2 013 0B3 08 !ECT )E,)%$"



T$%&'(E)*%%T+,- *+,T)
+f the fast idle speed is not enough or the engine gives off dar5 smo5e during the engine warm2up operation3 it might be caused by the engine coolant temperature
sensor.
&)+,- V%(TMETE$ 

Chec5  item Coolant  temperature Test  specification

Engine coolant temperature sensor output voltage !ECT )ensor side connector ,o. or ECM harness side connector
 ,o.B8"

hen  0>C ;.09  V

hen  0>C 4.;;  V

hen  ;0>C .B  V

hen  80>C .9  V

*7$,E)) +,)ECT+%, $%CE<&$E)

)E,)%$ +,)ECT+%,



. $emove the engine coolant temperature sensor from the inta5e manifold.

. ith temperature sensing portion of engine coolant temperature sensor immersed in hot water3 chec5 resistance.

Temperature >C!>6" $esistance !5A"

240  !2" .24.B8

20  !;" 8.120.B;

0  !4" 9.821.10

0  !18" .B2.B4

;0  !0;" .092.8

10  !;0" 0.94820.190

80  !B1" 0.820.4

0  !;" 0.20.;4

4. +f the resistance deviates greatly from the standard value3 replace the sensor.

+,)ECT+%,



Coolant Temperature )ensor 
. *eat the sensor by submerging it in hot water.

. Chec5 that the resistance is within the specified range.

$E)+)T7,CE )EC+6+C7T+%,

7t 0>C !18>6" .2.1 %hm

7t 80>C !B1>6" 0249; %hm

+,)T7((7T+%,
. 7pply sealant (%CT+TE 1T or eJuivalent to threaded portion.

. +nstall engine coolant temperature sensor and tighten it to specified torJue.

T%$D&E )EC+6+C7T+%,

Engine coolant temperature sensor 920 ,m 90200 5gcm 29 lbft

4. Connect the harness connector securely.

C+$C&+T <+7-$7M





<escription
Chec5 the internal control module $%M/$7M error.

*7$,E)) +,)ECT+%, $%CE<&$E



T$%&'(E)*%%T+,- *+,T)
• +f the ground wire of the ECM is not connected securely to ground3 the ECM will not operate correctly.

• +f we replace ECM $%M without further diagnosis3 the problem may reoccur.



C+$C&+T <+7-$7M

<E)C$+T+%,



The cran5shaft position sensor which consists of a magnet and coil is installed on the flywheel. The voltage signal from this cran5shaft position sensor is
 provided to the ECM for detecting the engine $M and position of cran5shaft.





. +f unexpected misses are felt during driving or the engine stalls suddenly3 sha5e the cran5shaft position sensor harness. +f this causes the engine to stall3
chec5 for poor contact at the sensor connector.

. +f the tachometer reads 0 rpm when the engine is cran5ed3 chec5 for faulty cran5shaft position sensor or ignition system problems.
4. +f the tachometer reads 0 rpm when the engine is cran5ed and it does not start3 ignition coil3 power T$3 or an ECM defect can be considered.
;. Engine can be stalled when the cran5shaft position sensor cable is close to the high voltage cable due to the electronic noise caused by the high voltage

induced.

<TC 2 04493 0441 !C$7,?)*76T %)+T+%, )E,)%$"

T$%&'(E)*%%T+,- *+,T)
. +f unexpected misses are felt during driving or the engine stalls suddenly3 sha5e the cran5shaft position sensor harness. +f this causes the engine to stall3



. +f the tachometer reads 0 rpm when the engine is cran5ed3 chec5 for faulty cran5shaft position sensor or ignition system problems.
4. +f the tachometer reads 0 rpm when the engine is cran5ed and it does not start3 ignition coil3 power T$3 or an ECM defect can be considered.
;. Engine can be stalled when the cran5shaft position sensor cable is close to the high voltage cable due to the noise caused by the high voltage induced.

*7$,E)) +,)ECT+%, $%CE<&$E



)E,)%$ +,)ECT+%,
. <isconnect the cran5shaft position sensor connector.

. Measure the resistance between terminals  and 4.

)EC+6+C7T+%,

)tandard value 0.;8120.9; 5A at 0>C !18>6"

4. +f the resistance deviates far from the standard value3 replace the sensor.

ME7)&$EME,T )EC+6+C7T+%,

Clearance between the cran5shaft position sensor and cran5shaft position sensor wheel. 0.92.9mm 0.0020.09in

T%$D&E )EC+6+C7T+%,

Cran5shaft position sensor 2 ,m 020 5gcm 1.128. lbft

C+$C&+T <+7-$7M





<E)C$+T+%,<E)C$+T+%,

Camshaft position sensor !CM )ensor" senses the T<C point of ,o. cylinder in its compression stro5e3 whose signals are fed to ECM to be used to determineCamshaft position sensor !CM )ensor" senses the T<C point of ,o. cylinder in its compression stro5e3 whose signals are fed to ECM to be used to determine
the seJuence of fuel in#ection.the seJuence of fuel in#ection.

<TC 2 04;3 04;4 <TC 2 04;3 04;4 !CM )E,)%$"!CM )E,)%$"



T$%&'(E)*%%T+,- *+,T)T$%&'(E)*%%T+,- *+,T)
+f the camshaft position sensor does not operate correctly !that is3 if correct seJuential in#ection is not made"3 the engine may stall or run irregularly at idle or fail+f the camshaft position sensor does not operate correctly !that is3 if correct seJuential in#ection is not made"3 the engine may stall or run irregularly at idle or fail
to accelerate to accelerate normally.normally.
&)+,- V%(TMETE$ &)+,- V%(TMETE$ 

CChheecc5  5  iitteemm CChheecc5  5  ccoonnddiittiioonn TTeesst  t  ssppeecciiffiiccaattiioonn

Camshaft position sensor output voltage !Camshaft position sensor side connector ,o. or ECM harness side connectorCamshaft position sensor output voltage !Camshaft position sensor side connector ,o. or ECM harness side connector
 ,o.;;" ,o.;;"

7t idl7t idle !800 re !800 rpm"pm" 029 V029 V

4400000  0  rrppmm 00229  9  VV

*7$,E)) +,)ECT+%, $%CE<&$E)*7$,E)) +,)ECT+%, $%CE<&$E)



C+$C&+T <+7-$7MC+$C&+T <+7-$7M



<E)C$+T+%,
The acceleration sensor is attached to the engine room of driver=s side. hile driving3 the rough road condition is sensed by the acceleration sensor and the ECM
uses this input signal to avoid the wrong misfire detection.

<TC 2 1093 101 !7CCE(E$7T+%, )E,)%$"



T$%&'(E)*%%T+,- *+,T)
hen abnormal output voltage occurs at stop position of vehicle or acceleration sensor is operated beyond normal operating Fone.
&)+,- V%(TMETE$ 

Chec5  item Chec5  condition Test  specification

7cceleration sensor output voltage !acceleration sensor side connector ,o. or ECM harness side connector ,o. 80" hile idling .4 2 .BV

hile driving 0.9 2 ;.9V

*7$,E)) +,)ECT+%, $%CE<&$E)



C+$C&+T <+7-$7M



<E)C$+T+%,



The idle speed control actuator is the double coils type and has two coils. The two coils are driven by separate driver stages in the ECM. <epending on the pulse
duty factor3 the eJuilibrium of the magnetic forces of the two coils will result in different angles of the motor. +n parallel to the throttle valve3 a bypass hose line is
arranged where the idle speed actuator is inserted in.

<TC 2 903 943 993 994





%pen or short circuit is observed in idle air control system when ignition switch is turned on .

T$%&'(E)*%%T+,- *+,T)



Mechanical problems are observed in idle air control system.

*7$,E)) +,)ECT+%, $%CE<&$E

7CT&7T%$ +,)ECT+%,
. <isconnect the connector at the idle speed control actuator.

. Measure the resistance between terminals.

)tandard value

)EC+6+C7T+%,

Terminal  and  0.92;A

Terminal  and 4 02.9A Gat 0>C !18>6"H

4. Connect the connector at the idle speed control actuator.



C+$C&+T <+7-$7M

<E)C$+T+%,



The idle speed control actuator is the double coils type and has two coils. The two coils are driven by separate driver stages in the ECM. <epending on the pulse
duty factor3 the eJuilibrium of the magnetic forces of the two coils will result in different angles of the motor. +n parallel to the throttle valve3 a bypass hose line is
arranged where the idle speed actuator is inserted in.

<TC 2 903 943 993 994



T$%&'(E)*%%T+,- *+,T)
%pen or short circuit is observed in idle air control system when ignition switch is turned on .

T$%&'(E)*%%T+,- *+,T)



Mechanical problems are observed in idle air control system.

*7$,E)) +,)ECT+%, $%CE<&$E

7CT&7T%$ +,)ECT+%,
. <isconnect the connector at the idle speed control actuator.

. Measure the resistance between terminals.

)tandard value

)EC+6+C7T+%,

Terminal  and  0.92;A

Terminal  and 4 02.9A Gat 0>C !18>6"H

4. Connect the connector at the idle speed control actuator.



C+$C&+T <+7-$7M

*7$,E)) +,)ECT+%, $%CE<&$E !)%*C"



+-,+T+%, C%+(
hen the ignition power transistor is turned %, by the signal from the ECM3 +t send the signal to the ignition coil3 then primary current is shut off and a high
voltage is induced in the secondary coil.

C+$C&+T <+7-$7M



<escription
The ignition switch2)T inputs a high signal to the ECM while the engine is cran5ing. The ECM provides fuel in#ection control3 etc. at engine start2up based on
this signal.

*7$,E)) +,)ECT+%,



C+$C&+T <+7-$7M

<escription



The inta5e air temperature sensor !+7T )ensor"3 located on the air cleaner3 is a resistor2based sensor for detecting the inta5e air temperature. 7ccording to the
inta5e air temperature information from the sensor3 the ECM provides n ecessary fuel in#ection amount control.

<TC 2 03 04 !+7T )E,)%$"



T$%&'(E)*%%T+,- *+,T)
+nput from inta5e air temperature sensor is below 0.V or above ;.8V when engine is in full warm2up condition.

*7$,E)) +,)ECT+%, $%CE<&$E

)E,)%$ +,)ECT+%,



. &sing the voltmeter3 measure the sensor voltage.

. Measure the voltage between the +7T sensor terminal  and .

K Temperature  >C  !>6" %utput  voltage  !V"

+-.  ).  %, 0  !4" 4.424.B  V

0  !18" .;2.8  V

;0  !0;" .12.0  V

80  !B1" 0.920.  V

4. +f the voltage deviates from the standard value3 replace the inta5e air temperature sensor assembly.

C+$C&+T <+7-$7M

<escription



7 5noc5ing vibration from the cylinder bloc5 is applied as pressure to the pieFoelectric element. This vibrational pressure is then converted into a voltage signal
which is delivered as output. +f engine 5noc5ing occurs3 ignition timing is retarded to suppress it.

<TC 2 041





hen 5noc5 sensor signal is abnormally low.

*7$,E)) +,)ECT+%, $%CE<&$E

)E,)%$ +,)ECT+%,



. <isconnect the 5noc5 sensor connector.

. Measure resistance between terminals  and 4.

)EC+6+C7T+%,

)tandard value about 9MA Gat 0>C !18>6"H

4. +f the resistance is continual3 replace the 5noc5 sensor.

T%$D&E )EC+6+C7T+%,

?noc5 sensor 128 ,m 10290 5gcm .828.; lbft

;. Measure the capacitance between terminals  and 4.

)EC+6+C7T+%,

)tandard value 8002100 p6

C+$C&+T <+7-$7M



<escription



Mass air flow rate is measured by detection of heat transfer from a hot film probe because the change of the mass air flow rate causes change in the amount of
heat being transferred from the hot film probe surface to the air flow. The air flow sensor generates a pulse so it repeatedly opens and closes between the 9V
voltage supplied from the engine control module. This results in the change of the temperature of the hot film probe and in the change of resistance.

<TC 2 003 004 !M76 )E,)%$"



T$%&'(E)*%%T+,- *+,T)



. +f the engine stalls occasionally3 start the engine and sha5e the M76 sensor harness. +f the engine stalls3 chec5 for poor contact of the M76 sensor
connector.

. +f the M76 sensor output voltage is other than 0 when the ignition switch is turned on !do not start the engine". Chec5 for faulty M76 sensor or ECM.
4. +f the engine can be idle even if the M76 sensor output voltage is out of specification3 chec5 for the following conditions:

o <isturbed air flow in the M76 sensor3 disconnected air duct3 and clogged air cleaner filter.

oor combustion in the cylinder3 faulty ignition plug3 ignition coil3 in#ector3 and incorrect comparison.

;. Though no M76 sensor malfunction occurs3 chec5 the mounting direction of M76 sensor.

&)+,- V%(TMETE$ 

Chec5  item Engine  state Test  specification

Mass air flow sensor output voltage !M76 sensor side connector ,o.  or ECM harness side connector ,o. ;" +dle !800 rpm" 0.B 2 . V

4000  rpm .4  2  .0  V

 ,%TE
• hen the vehicle is new !within initial operation of about 900 5m G400 milesH"3 the mass air flow sensor air Juantity may be about 0L higher.

• &se an accurate digital voltmeter.

• 'efore chec5ing3 warm up the engine until the engine coolant temperature reaches 80 to 0>C !B1 to 8>6".

*7$,E)) +,)ECT+%, $%CE<&$E)





C+$C&+T <+7-$7M



<escription
hen the ignition switch is on3 battery power is supplied to the ECM3 the in#ector3 the mass air flow sensor3 etc. hile the ignition switch is turned on3 current
flows from the ignition switch through the current relay coil to ground.



*7$,E)) +,)ECT+%, $%CE<&$E

M6+ C%,T$%( $E(7 +,)ECT+%,
. Chec5 continuity of relay contacts between terminals ; !N" and  !2".

$elay coil !between terminal 9 and " Continuity

hen  de2energiFed ,o  !infinite  A"

hen  energiFed es  !0  A"

$elay coil !between terminal 9 and 4" Continuity

hen  de2energiFed ,o.  !infinite  A"

hen  energiFed es  !0  A"



. +f fault3 replace the M6+ control relay.

T%$D&E )EC+6+C7T+%,

M6+ control relay B2 ,m B20 5gcm 9.28. lbft

C+$C&+T <+7-$7M





The T )ensor is a rotating type variable resistor that rotates with the throttle shaft to sensor the throttle valve angle. 7s the throttle shaft rotates3 the throttle angle
of the T )ensor changes and the ECM detects the throttle valve opening based on the change of the throttle angle.

<TC 2 03 04 !T )E,)%$"





T$%&'(E)*%%T+,- *+,T)
+nput voltage from throttle position sensor is below 0.V or above ;.BV when ignition switch is turned o n.
T$%&'(E)*%%T+,- *+,T)

. The T) signal is important in the control of the automatic transaxle. )hift shoc5 and other troubles will occur if the sensor is faulty.
. +f the idle condition or accelerating is abnormal3 chec5 the T) connector. !hen the T) connector is not connected properly3 the current data can show

that the idle state is off3 though the accelerator pedal is released. 7nd it results in improper idle or accelerating."
4. +nput voltage from throttle position sensor is below 0.V or above ;.BV when ignition is turned on.

&)+,- V%(TMETE$ 

Chec5  item Chec5  condition Test  specification

Throttle position sensor output voltage !T sensor side connector ,o. or ECM harness side connector ,o.B4" 7t idle !800 rpm" 0.20.8B9 V

ide open throttle ;.92;.8 V

*7$,E)) +,)ECT+%, $%CE<&$E)



)E,)%$ +,)ECT+%,
. <isconnect the throttle position sensor connector.

. Measure resistance between terminal  !sensor ground" and terminal 4 !sensor power".

)EC+6+C7T+%,

)tandard value 0.B24.0 5A

hen +dling .424.; 5A

4. Connect an ohmmeter between terminal 4 !sensor ground" and terminal  !sensor output".

;. %perate the throttle valve slowly from the idle position to the full open position and chec5 that the resistance changes smoothly in proportion to the
throttle valve opening angle.



9. +f the resistance is out of specification3 or fails to change smoothly3 replace the throttle position sensor.

T%$D&E )EC+6+C7T+%,

Throttle position sensor .92.9 ,m 929 5gcm .2.8 lbft

Circuit <iagram

<escription
The vehicle speed senor is a reed switch. The vehicle speed sensor is built into the speedometer and coverts the transaxle gear revolutions into pulse signals3



<TC 2 090

T$%&'(E)*%%T+,- *+,T)
+f there is an open or short circuit in the vehicle speed sensor signal circuit3 the engine may stall when the vehicle is decelerated to a stop.

*7$,E)) +,)ECT+%, $%CE<&$E)







(%C7T+%, %6 M6+ C%M%,E,T) !.9( )%*C E,-+,E"

. Engine coolant temperature sensor !ECT sensor"

. Vehicle speed sensor !V))"



4. +gnition coil

;. Mass air flow !M76" sensor 



9. +n#ector 

1. Camshaft position sensor !CM sensor"



B. Cran5shaft position !C?" sensor 

8. Engine control module !ECM"

. M6+ control relay



. *eated oxygen sensor !*%)". *eated oxygen sensor !*%)"

. +dle speed control . +dle speed control actuator !+)C actuator"actuator !+)C actuator"



4. +nta5e air temp sensor 4. +nta5e air temp sensor 

;. ?noc5 sensor ;. ?noc5 sensor 



9. Throttle position sensor !T sensor"9. Throttle position sensor !T sensor"

1. 7cceleration sensor 1. 7cceleration sensor 



B. Evaporative emission canister purge solenoid valve

8. Transaxle range switch

0. <ata lin5 connector 


